
          INSTALLATION MANUAL

NEPTUM Sliding Door and Side Panel
  (for corner installation–Reversible)

Step 7

Step 8

7

View from inside

Screw M4x8

BayKer Italia S.p.A. via Ghiarola Nuova, 85/87 – 41042 Fiorano Modenese (MO) – ITALY
                                                         www.iperceramica.it



1

3.2mm

6mm

Step 5

Step 6

6

3

1
2

1

2

3



2

Side Panel Box Contents
Step 3

Step 4

 5

3
3

2

[4] 8xScrews M4x8.
      8xScrew Cover Caps.

[5] 1xSide Panel.   

[2] 1xWall profile B.

[1] 1xInstallation
         Instruction.

[3] 1xCorner post.

[1] 1xInstallation
          Instruction.

[9]  8xScrews M4x8.
      8xScrew Cover Caps.

[3] 2xWall Posts.

[8] 8xWall Plugs.
     8xScrews M4x35.
     8xScrew Cover Caps.

Box Contents:

[10]  1xDoor Panel.
         2xTop Rollers.
         2xBottom Rollers.

[2] 2x Horizontal Rail.
     8xScrews M4x35.

[4] 1xPosts.

[5] 1xMagnet Seal.

[6] 2xDeflectors

[7] 1xHandle Set.
   

[11]  1xFixed Panel.

1

1

2

3

1
1

2

2

The clip wheels will use on
the bottom



Installation Steps
Step 1

Step 2

 43

Assembly Drawing(two cartons)

[2]

[3]

[4]

[5]

[1]

[6]

[7]

[8]

[10]

[9]

[12]

[13]

[15]

[16]

[14]

[11]

View from inside

Screw M4x35

Screw M4x35 Screw M4x35

Screw M4x35

1

1 2

2

[1]  1xWall profile B
[2]  1xSide Panel
[3]  1xCorner Post
[4]  16xScrews M4x8
[5]  20xScrew Cover Caps
[6]  1xPost
[7]  1xMagnet Seal
[8]  1xHandle Set 

    
       

[9]  2xBottom Rollers
[10] 1xDoor Panel
[11] 1xBottom Horizontal Rail
[12] 2xDeflectors
[13] 1xFixed Panel
[14] 16xScrews M4x35
[15] 1xHorizontal Rail
[16] 1xWall profile A
 


	页 1
	页 2
	页 3
	页 4

